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Text Correction


There was an error in the original publication. We state that the mistakes were made in the following Section: 4. Moment Generating Function for Beta Type Distributions.



All corrections have been made in the equations of Section 4. Moment Generating Function for Beta Type Distributions, with the page involving line numbers as follows:



Page 9 line 2 from the top, page 9 line 7 from the top, page 9 line 13 from the top, page 9 Theorem 5 line 19, page 10 line 2 from the top, page 10 line 5 from the top, page 10, Theorem 6. line 10 at the top, in the proof of Theorem 6. page 10 line 5 at the bottom, in the proof of Theorem 6. page 10 line 2 at the bottom, page 11 line 4 from the top, page 11 line 8 at the top, page 11 line 5 from the bottom, page 12 in Corollary 2 line 2 at the top, page 12 in Corollary 3 line 5 at the top and page 12 in Corollary 4 line 8 at the top.



We give a corrigendum involving a mistype of not only the assertion of Theorem 5 and Theorem 6 with their proofs, but also Corollary 2, Corollary 3 and Corollary 4 of our paper.



(Ref. [1], page 9 line 2 from the top):


      M x   (  t ;   a ,   b ;   n , m ,   k  )      =    ∑   j = 0  ∞    (     ∑   c = 0  k      (  − 1  )    k − c    (     k     c     )    B    (  c   +   j   +   1 , n − k   +   1  )  −  a  k − c    b  c + j + n − k + 1        (  b − a  )    n + 1     B    (  n − k + 1 ,   k + 1  )     )     t j    j !   .     











(Ref. [1], page 9 line 7 from the top):


   M x   (  t ;   a ,   b ;   n , m ,   k  )  =   ∑   j = 0  ∞   (    ∑   c = 0  k     (  − 1  )    k − c    (     k     c     )    B    (  c + j + 1 , n − k + 1  )  −  a  k − c    b  c + j + n − k + 1        (  b − a  )    n + 1     B    (  n − k + 1 ,   k + 1  )     )     t j    j !   .  











(Ref. [1], page 9 line 13 from the top):


      μ 1   (  a ,   b ;   n , m ,   k  )  =    ∑   c = 0  k      (  − 1  )    k − c    (     k     c     )   a  k − c    b  l + c + n − k + 1    ( b        − a )   − n − 1       B    (  c + l + 1 , n − k + 1  )      B    (  n − k + 1 ,   k + 1  )        











(Ref. [1], page 9 line 19, Theorem 5):


     E  (   e  − t l n  (  x − a  )     )      =    ∑   v = 0  ∞      ∑   j = 0  v      ∑   l = 0  v      (  − 1  )    v − l + j    (     v     l     )       (  b − a  )    m + l    S 1   (  v ,   j  )  B  (  k   +   l   +   1 ,   n − k   +   1  )    v ! B  (  n   −   k   +   1 , k   +   1  )     t j      











(Ref. [1], page 10 line 2 from the top):


     E  (   e  − t l n  (  x − a  )     )      =    ∑   j = 0  ∞      (  − 1  )   j   (     v     l     )   t j     ∑   v = 0  ∞      S 1   (  v ,   j  )    v !    (  b   −   a  )    n − m + 1       ∫  a b       (  x   −   a   −   1  )   v     (  x   −   a  )   k     (  b   −   x  )    n   −   k     B  (  n   −   k   +   1 , k   +   1  )      d x .     











(Ref. [1], page 10 line 5 from the top):


  E  (   e  − t l n  (  x − a  )     )  =   ∑   j = 0  ∞    ∑   v = 0  ∞       (  − 1  )   j   t j   S 1   (  v ,   j  )    v ! B  (  n − k + 1 , k + 1  )     (  b − a  )    n − m + 1       ∑   l = 0  v     (  − 1  )    v − l    (     v     l     )   











(Ref. [1], page 10 line 10, Theorem 6 from the top):


        ∑   d = 0  ∞      ∑   k = 0  d    (     d     k     )       (  − a − 1  )    d − k    μ k    d !      (  − t  )     ( d )        =    ∑   v = 0  ∞      ∑   j = 0  v      ∑   l = 0  v      (  − 1  )    v − l + j    (     v     l     )       (  b   −   a  )    m   +   l    S 1   (  v ,   j  )  B  (  k   +   l   +   1 ,   n   −   k   +   1  )    v ! B  (  n   −   k   +   1 , k   +   1  )     t j      











(Ref. [1], in the proof of Theorem 6. page 10 line 5 from the bottom):


     E  (     ∑   c = 0  ∞      ∑   d = 0  ∞    S 1   (  d ,   c  )       (  x − a − 1  )   d    d !      (  − t  )   c   )      =    ∑   v = 0  ∞      ∑   j = 0  v      ∑   l = 0  v      (  − 1  )    v − l + j    (     v     l     )       (  b − a  )    m + l    S 1   (  v ,   j  )  B  (  k   +   l   +   1 ,   n   −   k   +   1  )    v ! B  (  n   −   k   +   1 , k   +   1  )     t j      











(Ref. [1], in the proof of Theorem 6. page 10 line 2 from the bottom):


        ∑   d = 0  ∞      ∑   c = 0  d      ∑   k = 0  d    (     d     k     )   S 1   (  d ,   c  )       (  − a − 1  )    d − k   E  (   x k   )    d !      (  − t  )   c      =    ∑   v = 0  ∞      ∑   j = 0  v      ∑   l = 0  v      (  − 1  )    v − l + j    (     v     l     )       (  b − a  )    m + l    S 1   (  v ,   j  )  B  (  k   +   l   +   1 ,   n   −   k   +   1  )    v ! B  (  n   −   k   +   1 , k   +   1  )     t j      











(Ref. [1], page 11 line 4 from the top):


  B  (  n + 1 − k , k + 1  )   (   β 0   P 0   (  − t  )  +  β 1   P 1   (  − t  )  + ⋯ +  β d   P d   (  − t  )  + ⋯  )  =    ∑   v = 0  ∞       (  − 1  )   v     (  b − a  )    v + m − 1     v !    (   S 1   (  v ,   0  )  −  S 1   (  v ,   1  )  t + ⋯ +    (  − 1  )   v   S 1   (  v ,   v  )   t v   )  ( B (  v   +    k + 1 ,   n + 1 − k  ) + … +    (  − 1  )   v    B  (  k + 1 , n + 1 − k  )       (  b − a  )   v    ,  











(Ref. [1], page 11 line 8 at the top)



where


   β d  =   ∑   k = 0  d   (     d     k     )       (  − a − 1  )    d − k    μ k    d !    








and


   P d   ( t )  = t  (  t − 1  )  …  (  t − d + 1  )  =   ∑   m = 0  d   S 1   (  d ,   m  )   t m  .  











(Ref. [1], page 11 line 5 from the bottom):


        ∑   d = 0  ∞      ∑   k = 0  d    (     d     k     )       (  − a − 1  )    d − k    μ k    d !      (  − t  )     ( d )        =    ∑   v = 0  ∞      ∑   l = 0  v      (  − 1  )    v − l    (     v     l     )       (  b − a  )    m + l   B  (  k   +   l   +   1 ,   n   −   k   +   1  )    v ! B  (  n   −   k   +   1 , k   +   1  )       ∑   j = 0  v    S 1   (  v ,   j  )     (  − t  )   j      











(Ref. [1], page 12 line 2 from the top, Corollary 2):


    ∑   d = 0  ∞   β d   P d   (  − t  )  =   ∑   v = 0  ∞     (  − t  )     ( v )      ∑   l = 0  v     (  − 1  )    v − l    (     v     l     )     (  k + 1  )  !  (  n + 1  )  !    (  b − a  )    m + l     k !  (  n + l + 1  )  !    











(Ref. [1], page 12 line 5 from the top, Corollary 3):


        ∑   d = 0  ∞    β d   P d   (  − t  )      =    ∑   v = 0  ∞      ∑   j = 0  v   L  (  v , j  )   t   ( j )       ∑   l = 0  v      (  − 1  )    v − l    (     v     l     )     (  k   +   1  )  !  (  n   +   1  )  !    (  b   −   a  )    m + l     k !  (  n   +   l   +   1  )  !       











(Ref. [1], page 12 line 8 from the top, Corollary 4):


    ∑   d = 0  ∞   β d   P d   (  − t  )  =   ∑   v = 0  ∞    ∑   l = 0  v     (  − 1  )    v − l    (     v     l     )     (  k + 1  )  !  (  n + 1  )  !    (  b − a  )    m + l     k !  (  n + l + 1  )  !    P v   (  − t  )   











The authors apologize for any inconvenience caused and state that the scientific conclusions are unaffected. The original publication has also been updated.
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